
375±0.2

24
0±

0.
2

 0.5
Montagefläche
Mounting surface
s=1,5 - 6,0mm

1

A

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B

C

D

E

F

G

J

K

L

M

N

P

Q

R

1

A

H

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

S

24

B

C

D

E

F

G

H

J

K

L

M

N

P

Q

88
6 

20
0 

A0

- - -DR. JOHANNES HEIDENHAIN GmbH
83301 Traunreut, Germany

D

15
15

20

400

26
5

R10

61
6

61
6

20
20

6
6

7
75

7

28

12.5375 0.212.5

12
.5

24
0

0.
2

12
.5

389+1
 0

25
4+1  0

R5 (4x)

Stecker
Connector

Funktion
Function

X26 Ethernet 1
X27 COM 1
X29 reserviert

reserved
X101 Stromversorgung 24V-NC

Power supply 24V-NC
X116 Ethernet 2
X125 SIK
X141, X142
X143, X144

USB

X500 HSCI Ausgang 1
HSCI out

X501 HSCI Ausgang 2
HSCI out 2

X600 CFR Compact flash removeable

an_tt ID number: 1353438-02
Change No. C120850-55
Phase: Serie

Original drawing    IPC 344 Tolerances as per
ISO 8015Scale Format IPC 344Dimensions in

mm 1:1 A0 Anschlussmaße / Mating Dimensions
General Tolerances

ISO 2768:1989-mH      6mm: 0,2

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

Released  Version Revision Sheet Page

1353623 00 A 02 1
of
1

17.04.2023
Document number

X125

Zubehör / Accessory
Interface Board PROFIBus / PROFINet

X600 X501
X500

X116
X144
X143

X26
X142
X141

X27 X101 X29

Schutzerde M5
Protective ground M5

4x M5, Tiefe 8mm
4x M5, depth 8mm

optional:
Halteklammer (4x) mit

je 2x Gewindestift M5 mit Innensechskant und Spitze
Holding clamp (4x) with

2x M5 hex socket set screws with cone point

Freiraum für Belüftung
Free space for air ventilation

X

3:5

Frontplattenausschnitt
Front panel opening

0.5
Montagefläche
Mounting surface
s=1,5 - 6,0mm

Mutter M5
Nut M5

Halteklammer
Holding clamp

Gewindestift M5
Drehmoment 0,4 - 0,5 Nm
Set screw M5
Torque 0,4 - 0,5 Nm

Montagefläche, s=1,5 - 6,0mm
Mounting surface, s=1,5 - 6,0mm

Runddichtung, EPDM
O - Ring Cord, EPDM

Detail X:
Halteklammer
holding clamp


	Blatt 1
	Ansichten
	new_view_1
	unten_2
	new_view_3
	links_4
	new_view_5
	new_view_6
	new_view_9



